
item Industrietechnik GmbH
Friedenstraße 107-109
D- 42699 Solingen

Telefon: +49 / 212 / 65 80 -0
Telefax: +49 / 212 / 65 80 -310
E- Mail:  info@item24.com

Pos. Menge Artikel-Nr. Artikelbezeichnung Länge Breite
10* 30 0049247 Stellfuß 8 240x160
20* 10 0026580 Profil 8 80x80 leicht 2186 mm
30* 12 0002637 Abdeckkappe 8 80x80
40* 122 0048048 Nutenstein V 8 St M8, verzinkt
50* 120 8000019 Halbrundschraube M8x16
60* 12 0002634 Profil 8 80x40 leicht 2186 mm
70* 43 0002633 Profil 8 40x40 leicht 2000 mm
80* 18 0002633 Profil 8 40x40 leicht 1003 mm
90* 6 0042846 Vollkunststoff 4mm, hellgrau 1025 mm 962 mm
100* 6 0049207 PET-G 4mm 1025 mm 962 mm
110* 188 0048807 Standard-Verbindungssatz 8 K
120* 102 0002601 Abdeckkappe 8 40x40
130* 6 0062600 Sicherheitsaufhaengung 8-8, geschlossen
140* 9 0002633 Profil 8 40x40 leicht 200 mm
150* 3 0042846 Vollkunststoff 4mm, hellgrau 222 mm 662 mm
160* 3 0049207 PET-G 4mm 222 mm 962 mm
170* 3 0062600 Sicherheitsaufhaengung 8-8, geschlossen
320* 15 0002633 Profil 8 40x40 leicht 1310 mm
330* 5 0042846 Vollkunststoff 4mm, hellgrau 1332 mm 962 mm
340* 5 0049377 PET-G 5mm 1332 mm 962 mm
350* 5 0062600 Sicherheitsaufhaengung 8-8, geschlossen
360* 3 0002633 Profil 8 40x40 leicht 840 mm
370* 1 0042846 Vollkunststoff 4mm, hellgrau 862 mm 962 mm
380* 1 0049207 PET-G 4mm 862 mm 962 mm
390* 1 0062600 Sicherheitsaufhaengung 8-8, geschlossen
410* 6 0002633 Profil 8 40x40 leicht 1015 mm
420* 2 0042846 Vollkunststoff 4mm, hellgrau 1037 mm 962 mm
430* 2 0049207 PET-G 4mm 1037 mm 962 mm
440* 2 0062600 Sicherheitsaufhaengung 8-8, geschlossen
450* 1 0046201 C-Schiene, Schienenprofil 8 3040 mm
460* 2 0029401 Welle D14 3038 mm
470* 1 0046238 C-Schiene, Schienenprofil-Abdeckkappensatz 8
480* 1 0046202 C-Schiene, Schlittenprofil 8 1492 mm
490* 1 0046239 C-Schiene, Schlittenprofil-Abdeckkappensatz 8
500* 10 0046234 C-Schiene, Lagersatz 8
510* 6 0002634 Profil 8 80x40 leicht 1050 mm
530* 1 0049207 PET-G 4mm 1362 mm 1072 mm
610* 3 0002633 Profil 8 40x40 leicht 810 mm
620* 1 0042846 Vollkunststoff 4mm, hellgrau 832 mm 962 mm
630* 1 0049207 PET-G 4mm 832 mm 962 mm
640* 1 0062600 Sicherheitsaufhaengung 8-8, geschlossen
690* 2 0046201 C-Schiene, Schienenprofil 8 5000 mm
700* 2 0046238 C-Schiene, Schienenprofil-Abdeckkappensatz 8
710* 4 0029401 Welle D14 4998 mm
740* 2 0046202 C-Schiene, Schlittenprofil 8 2392 mm
750* 2 0046239 C-Schiene, Schlittenprofil-Abdeckkappensatz 8
760* 2 0002634 Profil 8 80x40 leicht 1580 mm
770* 2 0002634 Profil 8 80x40 leicht 1700 mm
790* 23 0002602 Abdeckkappe 8 80x40
800* 3 0045885 Rolleneinheit 8 PA



820* 37 0002607 Standard-Verbindungssatz 8
850* 2 0002633 Profil 8 40x40 leicht 780 mm
900* 10 0049415 Zentral-Verbindungssatz 8
950* 3 0002633 Profil 8 40x40 leicht 770 mm
960* 1 0042846 Vollkunststoff 4mm, hellgrau 792 mm 962 mm
970* 1 0049207 PET-G 4mm 792 mm 962 mm
980* 1 0062600 Sicherheitsaufhaengung 8-8, geschlossen
1080* 1 0019636 Scharnier 8 40 Zn
1090* 1 0019636 Scharnier 8 40 Zn
1140* 1 0046201 C-Schiene, Schienenprofil 8 1646 mm
1150* 2 0029401 Welle D14 1644 mm
1160* 1 0046238 C-Schiene, Schienenprofil-Abdeckkappensatz 8
1180* 1 0046202 C-Schiene, Schlittenprofil 8 632 mm
1190* 1 0046239 C-Schiene, Schlittenprofil-Abdeckkappensatz 8
1200* 1 0002634 Profil 8 80x40 leicht 840 mm
1210* 1 0049207 PET-G 4mm 502 mm 1072 mm
1220* 1 0046505 Gleitleiste 8 antistatisch 680 mm
1290* 4 0002634 Profil 8 80x40 leicht 1600 mm
1320* 2 0046505 Gleitleiste 8 antistatisch 1600 mm
1340* 11 0064054 Lasche 8 120x40
1350* 2 0002633 Profil 8 40x40 leicht 2500 mm
1370* 3 0002633 Profil 8 40x40 leicht 180 mm
1380* 1 0042846 Vollkunststoff 4mm, hellgrau 202 mm 962 mm
1390* 1 0049207 PET-G 4mm 202 mm 962 mm
1400* 1 0062600 Sicherheitsaufhaengung 8-8, geschlossen
1410* 3 0041666 Profil 8 120x40 leicht 2186 mm
1430* 8 0002633 Profil 8 40x40 leicht 1700 mm
1440* 4 0002633 Profil 8 40x40 leicht 1420 mm
1460* 2 0041132 Winkelsatz 8 80x80
1470* 2 0002634 Profil 8 80x40 leicht 1000 mm
1480* 4 0002683 Rolle 8
1490* 2 0043209 Griffleistenprofil 1732 mm
1500* 2 0043228 Griffleistenabdeckkappensatz
1510* 3 0002633 Profil 8 40x40 leicht 860 mm
1520* 2 0002633 Profil 8 40x40 leicht 640 mm
1530* 4 0049207 PET-G 4mm 882 mm 712 mm
1540* 2 0049207 PET-G 4mm 882 mm 802 mm
1550* 4 0042846 Vollkunststoff 4mm, hellgrau 662 mm 712 mm
1560* 2 0042846 Vollkunststoff 4mm, hellgrau 822 mm 802 mm
1570* 13 0042709 Abdeckkappe 8 40x40 Zn
1580* 2 0041854 Abdeckkappe 8 120x40
1610* 1 0002634 Profil 8 80x40 leicht 2000 mm
1620* 3 0002633 Profil 8 40x40 leicht 718 mm
1650* 1 0045833 Schlosssystem 6-8
1660* 3 0048359 Scharnierlappen 8 80x40, ohne Kappen
1670* 3 0048361 Scharnierbolzen D8x76
1680* 3 0048359 Scharnierlappen 8 80x40, Kappe unten
1690* 3 0048359 Scharnierlappen 8 80x40, Kappe oben
1700* 6 0002633 Profil 8 40x40 leicht 238 mm
1710* 2 0042846 Vollkunststoff 4mm, hellgrau 260 mm 962 mm
1720* 2 0049207 PET-G 4mm 260 mm 962 mm
1730* 2 0062600 Sicherheitsaufhaengung 8-8, geschlossen
1750* 1 0049207 PET-G 4mm 740 mm 962 mm
1760* 1 0042846 Vollkunststoff 4mm, hellgrau 740 mm 962 mm
1770* 24 0038808 Automatik-Verbindungssatz 8, verzinkt
1780* 4 0019687 Winkel 8 40
1790* 6 8000010 Halbrundschraube M8x40
1800* 8 0002633 Profil 8 40x40 leicht 44 mm
1810* 2 0041115 Winkelsatz 8 40x40



1820* 8 8000012 Halbrundschraube M8x80
1830* 1 0002633 Profil 8 40x40 leicht 1160 mm
1840* 5 0002633 Profil 8 40x40 leicht 2186 mm
1850* 5 0002603 Profil 8 40x40 400 mm
1860* 62 0040680 Automatik-Stoß-Verbindungssatz 8, verzinkt
1870* 3 0002634 Profil 8 80x40 leicht 400 mm
1880* 3 0041666 Profil 8 120x40 leicht 400 mm
1890* 2 0002634 Profil 8 80x40 leicht 2392 mm
1900* 6 0002634 Profil 8 80x40 leicht 320 mm
1910* 5 0002633 Profil 8 40x40 leicht 320 mm
1920* 2 Einführung
1930* 2 8000911 Halbrundschraube M8x20, verzinkt
1940* 3 0002633 Profil 8 40x40 leicht 1460 mm
1950* 1 0042846 Vollkunststoff 4mm, hellgrau 1482 mm 962 mm
1960* 1 0049207 PET-G 4mm 1482 mm 962 mm
1970* 1 0062600 Sicherheitsaufhaengung 8-8, geschlossen
1980* 1 0046201 C-Schiene, Schienenprofil 8 3156 mm
1990* 2 0029401 Welle D14 3154 mm
2000* 1 0046238 C-Schiene, Schienenprofil-Abdeckkappensatz 8
2010* 1 0046202 C-Schiene, Schlittenprofil 8 1496 mm
2020* 1 0046239 C-Schiene, Schlittenprofil-Abdeckkappensatz 8
2030* 1 0042846 Vollkunststoff 4mm, hellgrau 1366 mm 722 mm
2040* 1 0002633 Profil 8 40x40 leicht 1344 mm
2050* 1 0049207 PET-G 4mm 1366 mm 882 mm
2060* 1 0002633 Profil 8 40x40 leicht 700 mm
2070* 1 0043209 Griffleistenprofil 1632 mm
2080* 1 0043228 Griffleistenabdeckkappensatz
2090* 2 0044058 Automatik-Verbindungssatz 8, rostfrei
2100* 1 0002633 Profil 8 40x40 leicht 1652 mm
2110* 1 0002634 Profil 8 80x40 leicht 1496 mm
2120* 2 0043111 Klemmprofil 6 30x30 2100 mm
2130* 2 0043111 Klemmprofil 6 30x30 1480 mm
2140* 4 0048707 Hubtür-Lagersatz
2150* 2 0049377 PET-G 5mm 1450 mm 1062 mm
2160* 2 0047827 Profil 6 30x30 3N leicht 50 mm
2170* 1 0041906 Profil 6 30x30 leicht 1000 mm
2180* 3 0044184 Griff-Abdeckprofil 6 30x6 1000 mm
2190* 1 0044184 Griff-Abdeckprofil 6 30x6 940 mm
2200* 2 0044187 Griff-Endkappe 6 D42
2210* 2 0041914 Standard-Verbindungssatz 6, verzinkt
2220* 1 0043114 Klemmprofil 6 30x30-180° 1420 mm
2230* 2 0048510 Hubtür-Führungsprofil 8 80x80 2450+2210
2240* 2 0048518 Hubtür-Kettenumlenkung VK14
2250* 2 0019690 Kanal-Abdeckkappe 80x80
2260* 2 0048519 Hubtür-Gegengewicht-Führungssatz
2270* 2 0048745 Kanalprofil U 80x80 SE 3000 mm
2280* 2 0019641 Trägerprofil 80 3000 mm
2290* 20 0041726 Halbrundschraube M6x14
2300* 20 0002623 Nutenstein 8 St M6, verzinkt
2310* 8 8000013 Blechschraube DIN 7981 St 4,2x9,5
2320* 2 0019641 Trägerprofil 80 1740 mm
2330* 2 0048745 Kanalprofil U 80x80 SE 1740 mm
2340* 2 0041637 Anschlagpuffer M8 D30x30
2350* 2 0042272 Profil 8 40x40 1N leicht 1420 mm
2360* 1 0049377 PET-G 5mm 2042 mm 1442 mm
2370* 1 0042275 Profil 8 80x40 2N leicht 1420 mm
2380* 2 0002692 Universal-Verbindungssatz 8, verzinkt
2390* 3 0002633 Profil 8 40x40 leicht 1200 mm
2400* 1 0042846 Vollkunststoff 4mm, hellgrau 1222 mm 962 mm



2410* 1 0049377 PET-G 5mm 1222 mm 962 mm
2420* 1 0062600 Sicherheitsaufhaengung 8-8, geschlossen


